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MA308 RoOlING. : coviiivniiininnennnens
2016
VEHICLE TECHNOLOGY
frattaawa: Vhder ) [arfarpan 3w : 30
Time allowed : 72 Hour] [Maximum Marks : 30

e . () @ g iar & vd gEE aeT 1 SEwE |
Note : All Questions are compulsory and each question is of 1 mark.
(i) 3 et 4 g g # Reifey & sidst srgar & A & 1

Only English version is valid in case of difference in both the languages.

1.  EARHT HeR HI0T B WA © 1. Positive camber angle means :
(a) W U ST IH T (a) Front wheel tilt outside
(b) 3 e T FH T (b) Front wheel tilt inside
(c) 3w Ui w=H £ 5] (c) Front wheel straight
(d SRTHY FE & (d) None of the above

2. Frad @ v T & A A €2 2. Which is not the part of a tyre ?
(a) disaEd (a) Bead wires
(b) drg W (b) Bead wrapping
(©) Tre (c) Fillers
(@ Fm (d) Rim

3. gl a% fawed § €© w@r #@ 3.  To remove the entrapped air from the
freprer Bt FRd € hydraulic brake system is called
(a) S A YEHT (a) Purging of brake
(b) IFF TEE (b) Cleaning of brake
(c) 3 = =Afe (c) Bleeding of brake
d IR | § B T (d) None of the above

P.T.O.
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4, ‘HECHOT H A FaAEa e 0
(@ 2°-5°%FsH

(b) 10°-15°% 4=
(©) 15°-20°F g
(d) ST

e Y ¥ F SR Frae s S
forge! TeEa | g R €2

(@) WTIw

(b) TR

(c) afe=m

(d =&

= A faren =it < snavEwar & 2
(a) HW USH WA

(b) H fEE

(c) T I

(d) SRiF ot

ot far # uam offe = e &
(a) qEAdE

(b) FeEE Aw

(c) MR

(d) =

fafeust smr &R %% s T &
J¥ T HI0T EIT ¥ ;
(a) 60°

) 120°
() 90°
(d 180°

e dfad § s e R
(a 2.5

(b) 25

(¢ 10

(d) 100

2
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Value of ‘caster varies

between

(a) 2°-5°
(b) 10°-15°
(c) 15°-20°
(d) None

angle’

Upper & lower arms in independent
suspension is fixed with

(a) Rubber bush
(b) Nut & Bolt
(c) Welding

(d) None

What is the requirement of a good
braking system ?

(a) Low pedal effort

(b) Low wear

(¢c) Low maintenance

(d) All of the above

First leaf of leaf spring is called
(a) Main leaf

(b) Secondary leaf

(¢) Common leaf

(d) None

Angle between cylinder axis & centre
line of crank shaft is :

(a) 60°
(b) 120°
(©) 90°
(d 180°

Max. torque multiple in torque
converter is

(a 25
(b) 25
(c) 10
(d 100
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1.

12.

13.

14.

15.

Terael URNYT T & Wi ¥
(a) SAC]

(b) Wl s=wan
(c) foram g=fam

(d) uEd w

3NaL grgd H v far s €
(a) FrauquE wer & fo
() e fer s & o
(c) Frauqua sgH % fow
(@ =R

W E¥eT THE H AN €

(@) | 7l W AR sgemn sEm
(b) URYY W HH s

(c) el TAH W & W FEd
(d) SR T

aife grea o “erediEs e &1 3t &
(a) H TEH AT

(b) iR A FloTE

(c) we&m

(d) IR ol

HarTe 308 g £

(a) Frenge i fafeost iy
(b) HHATE AR Fafervsy =6
(c) Hwa T freA

(d) AT 3N B A

of e favest & waREEA A 36
1t FE T @A, A qP I A T
(a) 3 F Aeb ik & Tl &

(b) Tl st i & Tl |

(c) &M o frwe g € |

(d) Tl v fowe aFdt 2 1

(&)

10.

11.

12.

13.

14.

15.
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Main part of automatic transmission
is

(a) Oil-pan

(b) Converter housing

(¢) Extension housing

(d) All of the above

Overdrive is used

(a) To reduce gear ratio
(b) To fix the gear ratio
(¢) To increase gear ratio
(d) None

Advantage of free wheel unit

(a) Easy gear shifting at low speed
(b) Less wear in transmission

(c) Fuel saving on long slope

(d) All of above

Disadvantage of ‘Hypoid Gear’ in
final drive

(a) Less ground clearance

(b) Connecting problem

(¢) Costly

(d) All of above

Connecting rod connects :

(a) Crankshaft & Cylinder head
(b) Crankshaft & Cylinder block
(c) Crankshaft & Piston

(d) Crankshaft & Cam shaft

If proportionate valve of braking
system is not working properly then
on applying the brakes

(a) Front brake may lock

(b) Rear brake may lock

(c) Front brake may slip

(d) Rear brake may slip

P.T.O.
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16.

17.

18.

19.

20.

grafeg Ter & HAF B T R 8
(a) ToUeHR WE |

(b) T AR T T AR FE
(c) fafaa de ufafea

(d) SedFa o

whaitn faen & geg am ¥
(a) feum ot

) sias

() et 3

(d) SR o

oy faen s " &
(a) Qe & AT |

(b) gl 3 W Ul W wIFaia
FET

(©) T T GTH & I Gay FF |
(d) I Bl ST S@E

e 9t e St For W fermant sern
TGTERARE 2

(a) wwifirad
(b) WG €
(c) ufafrm
(d) =T

T FHA-3TE & W o B ¥
(a) 1

(b) TR

(c) T g

@ wH I

@

16.

17.

18.

19.

20.
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Main function of springs in ‘Hotchkiss
Drive’
(@) To bear body weight
(b) To bear drive & side thrust
(c) Additional torque reaction
(d) All of the above

Main part of steering system is
(a) Pitmann arm

(b) Draglink

(¢) Knuckle arm

(d) All of the above

Which one is not the function of
suspension system ?
(a) To prevent rolling

(b) To transfer driving torque to
wheel

(¢) To make contact between road
& tyre
(d) To improve engine efficiency

Top most ring of piston is coated with
(a) Chromium

(b) Stainless steel

(¢) Aluminium

(d) Silver

Inside the spring eye of a car is fixed
(a) Bronze bush

(b) Rubber bush

(c) Steel bush

(d) Metal bush
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21. HERT I& 3R Rer Hior F FOR B 21. Ratio of comering force to slip angle
FE & is called
(a) T e ds (a) Auto stable torque
(b) AleSH A (b) Pneumatic trail
(c) R wfe (c) Cornering power
(@) FRTIA (d) Caster Trail
22. RN 2T H GiEl TE FH Ie¥d 22. Slots in the tyre treads are provided
(a) O FBET f"; o "
a o increase pu
(b) S 5 (b) To improve treads life
© AR TR FH FA (c) To reduce noise lever
(d) e YR T HT (d) To provide cushioned ride
23. fafeoet @R fFg o WS ST e 2 23. Cylinder liner is made of which metal
(a) TafeE (a) Silicon
(b) Tt 3T wifEw (b) Nickel & Chromium
(c) W (¢) Manganese
@) Iy |t = firsrng (d) Alloy of all above
N4, THH % STHR faEyoT & HROT T 24. Reason of shape distortion of the
frame is
(a) TS H AR

(a) Vehicle weight

®) V51 W (b) Passengers weight
(c) EH T ThEE W Uil B TFR () Wheel collision with road
(d) HHT A obstacle
(d) Cornering force
25. 2T e % e Sud S W el 25. Effect of high tyre pressure

g

W f d
@) Wﬁgwﬁﬂf (a) ear of tyre trea
(b) T WIS B FH A (b) Reduce cushioning effect
(c) uw fa=x () Concussion break
@ W e (d) Al of above

P.T.O.
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26.

27.

28.

29.

30.

FHA I faE & S B TR &/
wHE

(a) ik oY S

(b) TR ST HEAT

(c) HI HH B

(d) A YR BT

TRR I FAFR &

(a) TS WA B
(b) IR FFA TF
(c) 3T I YHR
(d) IuE T UHR

TR H ud HE B e ¥
(a) Fruifea amed
(b) IR FIT
(¢) Tawith &
(d) Al P aRafa® HE

e SRS T AN

(a) W I A HEE. W st nfa
() TR T

(c) <= il = ww forarg

(d) IR et

el W § e ot & $9 9+
ey
(a T
®) @
(c) o
d =W

(©)

26.

27.

28.

29.

30.
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Function of zinc liner in leaf spring is
(a) Improve fatigue life
(b) Reduce squeaking
(¢) Reduce vibration
(d) Provide fading

Type of tyre structure is
(a) Cross ply type

(b) Belted bias type
(¢) Radial ply type
(d) Allofabove

‘Ply Rating’ for tyre means
(a) Determined strength
(b) Aspect ratio

(¢) Recommended air pr.

(d) Actual no. of ply

Advantage of over drive is

(a) High speed at low engine RPM
(b) Fuel saving

(c) Less wear of engine parts

(d) All ofabove

Min. no. of compression rings in auto
engine :

(a One

(b) Two

(¢) Three

(d) Four 'y

.



MA308 | RO NO. 2 cveereveeeeracnens
2016
VEHICLE TECHNOLOGY
PART-I
Praifa g dfw e [tferman 3% : 70
Time allowed : Three Hours] [Maximum Marks : 70
g () wEwTeT afEr E ey d 3 fret ale ¥ s Al
Note : Question No. 1 is compulsory, answer any five questions from the remaining.

(i) T g & @it url B FHAR 0% A & B |

Solve all parts of a question consecutively together.

(iii) TR FoT B 78 IS T IRAT BT |

Start each question on a fresh page.

(iv) T aeT % s gl @l Rerfer 7 st srgare & A € |

Only English version is valid in case of difference in both the languages.

1. () TWAWIEAFFMATE?
What are the advantages of ‘Tyre Rotation’ ?
(i) vRRIBRTETE?
What are Power Brakes ?
(i) 4 x 4 -3 T Y T 1 FAA € ?
What do you understand by 4 x 4 vehicle layout ?
(iv) Toeest foit w1 et W vl @ § 7
What is the function of Piston Rings on Piston ?
(v) iRt gia @ S T WO € 2
What do you understand by Final Drive ?

2. U ZUUEE T Y WA o hravonet et 9 e § Wy |

@x3)

Explain the construction and working of a Transaxle unit with the help of diagram. (6+6)

3. @m%m%mmaﬁaaﬁaﬁﬁq@mmml
]

P.T.O.



MA308

@® 2180

Describe a Diaphragm spring type clutch with sketch and write its advantages. (12)
4. mmﬁa%mf@ﬂﬁam@qﬁé&:maﬁmﬁmaﬁuﬁﬁm |

Draw layout diagram of Air Power Brakes and explain construction and working of
Brake Valve with the help of neat diagram. 12)

5. @)

(1)

ww froet Thd i aw # Atew = o fa s @ fabe= sEgar & et
TUT |

Draw layout diagram of chassis of Rear Wheel Drive vehicle and show
arrangement of different components.

zorat o ¥ fre # qorn A wegitaw fre & o fafa |
Write down the advantages of Aluminium Piston as compared to Cast Iron
Piston. (8+4)

6. g freman o o faramy o ST ETOTe GEST | UE Tk oy of fefe |

Draw layout diagram of Air Suspension System and explain its working. Also write its

advantages. (12)
7. () U T SHEAHE H BH-PA Y HRE T R § 2
Which factors affect the life of a tyre ?
(i) dte Soe g 1 fax vd Frfat qERET |

Explain Seat Belt Mechanism & its working with the help of diagram. (6+6)

8. frad ¥ fedl dfimr o s fewfvrat fefam -

Write short notes on any three of the following :

() Zad w et
Retreading of Tyres
(i) NHe T AHiEe WA
Gaskets & Oil Seals
(iii) T AR TR
Valve Operating Machanism
(iv) %9 TR @A
Fluid Fly Wheel
(v) fesfvaa

Differential @x3)



